E# &S Symbol

MAD

= =

A iTH% Order Code

MACD

||\'||‘|’|\‘II]' |I\'||‘|’|\"l}: II]' %égyu
Series
5

A FF S $8& Specifications

F#Z(mm)  Bore

16 [ 20 [ 25 [ 32 [ 40 | 50 | 3

HER R Action model

WEE Double action

T &4 &t Working Fluid

=5 Air

EEER
1) 1) 1) i
(T . HAR LBE FAZY Basis style LB type FA type
T EE7IMPa
1IE},_jj 0.1—0.9
Working Pressure range
it EMPa
1.35
Proof pressure
N=]

THERET 0 60C
Working temperature
TEEREmMmM /s

30~ 800

Working speed range

gt | FEESandardType

22 Mm% B Rubber cushion

Cushion type|:myshion Type

- ‘ AR Adjustable cushion

% 012 Port Size

M5x0.8 | PT1/8 | PTi/4

EERR

mounting style

772

Stroke

fIRES

Bore

A 3K B3 A Sk

Rod style:Double rod

BS

Model

HYC
HYCD
HYCJ
HYCT
HYC
MBB
QGA(B)
CA1
Ccst
DNC
SDA
SDAD
SDAJ
SDAT
SDAW
SDA
cas
cQ2
ADVU
MAL
MSAL
MALD
MALJ
MAL
MA MAC
)
MAJ
MAR
MA
CJ2
cM2
DSNU
cu

N
CXS
oXSW
MGP
CJP
CY1B(S)
MH

ZH

2.083



HEMNEB—ST]

HENGYI| PNEUMATIC CO., LTD.

A RERLEH Internal Structure

1 2 345 6 7 8 9 10 1112 13 14 15

FB-———— F-Ep-—— - 9F

287
FSNo. ZFR FSNo. B4 Part name
1 28 Nut 9 S&HZEPiston
2 SAZEFPiston rod 10 SEEZH BPiston seal
3 B Z % ERod packing 11 R&%  Piston magnet
4 &@ihA& Bush 12 ik E Magnet mount
5 BIZIER Nut 13 M EER  Wearring
6 Bi#& Rod cover 14 W Washer
7 AFEME Cylinder tube 15 SE24T  Piston rod
8 4% F Cushion rubber
£142(mm) Bore 16 [ 20 [ 25 [ 32 [ 40 [ 50 63
(N Cylinder R Stainless steel
SHE Piston HBES Aluminum alloy
SHEAT Piston Rod BRN(EE ST ELE) high carbon steel (Industrial chrome plated)
JHE B Piston seal NBR
B = Rod packing NBR
23m3H&  Bush MK AH Oil impregnated bearing alloy
GIES Rod cover kS Aluminum alloy
REEk Magnet ¥8 Bk Plastic magnet
Z#fr  Cushionrubble NBR

2.084




¢ 16~ 40

Series
N\

A 5MESR~HZEE¥) Overall Dimension(mm)

A+{TFEX2

A+Strokex?2

C+f7#&

C+Stroke

B+Stroke

HYC
HYCD
HYCJ
HYCT
HYC
MBB
QGA(B)

AT
4Thick

G

G/

1]

\S)
n

¢ P(H8)

M
"
L it

(10)

ZORIRET (EFI)

C

ushion

screw(Option)

|
!

4Thick

%112 Bore

K

16

136

38

22

16

10

16

10

M6x 1

M6x1.5

20

156

40

28

12

16

20

12

M8x1.25

M22x1.5

25

164

44

30

14

16

22

17

M10x1.25

M22x1.5

32

164

44

30

14

16

22

17

M10x1.25

M24x2.0

40

168

46

32

14

16.7

24

17

M12x1.25

M30x2.0

50

199

52

32

20

23

24

19

M14x1.5

M36x2.0

63

199

52

32

20

23

24

19

WO N|OO|O|O|0|

M14x1.5

M36x2.0

#11%¢ Bore

AX

AY

16

14

21

M5x0.8

25

22

20

10

27

PT1/8

33

29

25

12

30

10

®lol0|=s

PT1/8

33

29

32

12

35

12

—
o

PT1/8

37

32

40

12

41.6

16

PT1/8

47

41

50

14.5

53

16

14

PT1/4

53

46

63

14.5

67

16

14

PT1/4

53

46

CA1
Ccs1
DNC
SDA
SDAD
SDAJ
SDAT
SDAW
SDA
cas
cQ2
ADVU
MAL
MSAL
MALD
MALJ
MAL

MA MAC
MSA
MAD
MAJ
MAR
MA

CcJ2
cM2
DSNU
cu

N

CXS
oXSW
MGP
CJP
CY1B(S)
MH

ZH

2.085



